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NVS TGT (Maths Part 2) 2016 (English) 1
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This bookl i inted pages-
oklet contains 24 printed pag W¥-9S II / PAPER I

WIT.V/PART -V e gftaeT w
MATHEMATICS Test Booklet Code

TR TG gReeT @t 7 7 7 WA T T BT Y |
Do not open this Test Booklet until you are asked to do so.

T TET gftae & fuge st W T TE PR w e d o Z1

Read carefully the Instructions on the Back Cover of this Test Booklet.

wenfaat & g 1 i INSTRUCTIONS FOR CANDIDATES
L. qfTenT e gt %1 U IRITE ¥, 3T alanteat This booklet is a supplement to the Main Test Booklet
: st it nﬁmﬁwﬁ:mﬁi | for those candidates who wish to answer Part-V in
S J SR Mathematics subject.

3R Wy F IR 3 R g e e |

AT Saret wTer/ter |fer g O 1 WA HE |

et S T, STR-OF & YS-2 WBT Waha | e ¥ o
7z ft ghfvem = & fF when gfes g @6k swean
Hem frew € 1 e Tw fr= o, At e gEdt uden
e SR ST o % o Fiers @t et s s

T 1 HAFHE :
L 1) AT 11 . 121 ¥ ¥. 200)

W H |

| e W | I ATER ¥ YA T BT
i & 1

2. et T 1, 11, 111 S TV % SO T W e @ ¥ | 2,
3. . 39 T W faeror ifed 3 08 I W@ R e s & | 3,

4. @ Y & wha Z1 ¥ ) o gitfvea oA e ow | 4

5. 39 oieT gierer o 9r-v § R 80 Swfte weR § S| S.

TF wd T qis § 79 waeE & o & @t e | 6.

7. T IO ST OMR ITCUT W & 3ifpa L | a0 I | 7.

Candidates are required to answer Parts I, II, IIT & IV from
the Main Test Booklet and Part-V from the subject chosen

by them.

Use Black/Blue Ballpoint Pen only for writing particulars
on this page / marking responses in the Answer Sheet.

The CODE for this Booklet is Z1. Make sure that the CODE
printed on Side-2 of the Answer Sheet is the same as that on
this booklet. Also ensure that your Test Booklet No. and
Answer Sheet No. are the same. In case of discrepancy, the
candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the

Answer Sheet.

This Test Booklet has Part-V, consisting of 80 Objective
Type Questions, each carrying 1 mark :

Part-V  : Mathematics (Q. 121 to Q. 200)

Rough work should be done only in the space provided in the
Test Booklet for the same.

The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener is allowed

726620

for changing answers.
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MATHEMATICS
Part-V/¥mr. v
MATHEMATICS / niftre
121. An ogive is obtained by plotting the 121, @Rl W*Wﬂ;ﬁmw
Pointg corresponding to the ordered - it e, e mm R
pairs ' ’ 3
(A) (upper limit, corresponding (B) (Il e, et e :
cumulative frequency) e, it e e
(B)  (upper limit, corresponding © (e, . . ‘
frequency) (D) (= o, e ey L)
(©) (ower limit, corresponding = arﬁftqasﬁrgaaqgmwm
frequency)
(D) (lower limit, corresponding e e &
cumulative frequency) T P -
and joining them by a free hand
smooth curve, (1) (A) 3R (B)
The correct options are @ (B)3R(Q)
(1) (A) and (B)
(2) (B)and(C) (3) (A) ¥R (D)
+A3)  (A)and (D)
4) (O 3RD
@ (C)and (D) 4) (C) ¥R (D)
122. The marks obtained by 40 students in 122. U T % 40 Frenfert grr o % wr
a test on Mathematics are given in ﬁﬁﬁﬁwm&mw%:
the table below : -
Marks |0-20/20-60[60-80]80-100]Total T |0-200-60 S0 80-100) et
Number| 5 [ 16 [ 14 | 5 | 49 fenfat| s |16 [ 14 | 5 | 40 o
of W ‘
students A
For drawing histogram the frequency Fet &g it = i {
of 2™ class interval is SRR & 4
16 ) 14 M 16 @ 14 Sl §
3 12 “ 8 3) 12 @ 8 oo
123. For data 3, 5, ()8, X, mean ang 123. sfweh 3,5, 7, 8, X H ool
" median are equal. If X > 8 then T W E X g R AXFAT
value of X is & ‘
@)." - ® 2 @ u
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‘ - \D! e %
N \’r“'(_/s' 1% 2
/

<
L 21~
. 7mﬁwq,@qmi—$x%a}ﬁ ;
FAAE T x > 8, I B T 50 4

mode, median and 10,4,83?74%1?%3:@3%}7

mean i FZEH, I T A U T 2
) of these seven integers form an T
- . . y T st § : . .
anthmetic Progression. The value of .8~ ) )
x . ™ ~ N 3
i« ¥ AT FATE

\/ 3 al
1) 34 q, - n?
_ )" W (1) 34 o <o
(2) 32 g-pa 2% oF 3
2 S, R (2) 32
) 26 =
W _.gn 3) 26 o
@ 40 » 2
4) 40
125. Read the following table -
— 125. fetiefae e 3 2w -
Loamdkbursedbyfour '\
Bank | banks (in crores of ) during S Ee e st
2011 | 2012 [ 2013 | 2014 had (FE X ) et
Al 13| 19| 58 - 2011 | 2012 | 2013 | 2914
B 129 | 29 [ 2 17 A1 1319 | 28 | 3
C [ LW 45 | 3 Bl2 29|22,
‘ P 27 | 33 | 18| 4 C | 18|23 45| 3
Total| 87 | 104 | 113 | 129 | D127 33| 1584
In the year 2014, loan disbursement T 87 | 104 | 113 | 120
Was  more than 309 of th EL ]
20 [ %
disbursement in all banks in bagk egg ﬁqml;ﬁ? T, g
‘i 4 : 8 5 : T 30% e fear, 7
\ n Q \C
/
2) B 1 A
@ D K 3 :Cci:
4 D
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Z1 - ‘ MATHEMATICS
126, . - ( ,l)
Let varable X has a binomial 126. e 5 X ¥ KO R iR g
distribution B (6- -é—) Then most § | X o AF FTEE M Bl AT e
likely outcome is when value of X is sy, WE:
3 4 @ 5 3) 4 gy 2
: ' T o faas
127. There are two bags — one containing 127. < & H 9, T & 3 ,,Q$ it PO
3 one rupee coins , 6 five rupee coins o 6 U T Feer 3; . &
and the other containing 2 one rupee e g ¥ faes a7 U= T ‘i\“aa;
coins, 7 five rupee coins. One bag is £ ) ggma ¥ T deT A T qe
chosen at random and from that one WA T fgEE Agedl q  foran
coin is drawn at random. What is the T | wifaERT T S 7 9 T g
probability that it is a ﬁupee coin ?[ w1 Foa T |
2 4
1) 3 3 A\ 2
: . O ;
2) T3 . L
18 P s 2) 18
2. : 5
3 1g - @ 0. 1 W 5
y
| 13 o~ 13
5P 18 o I
128. Two dice are thrown. The probability 128. @ W UH W™ % 0 | i wm
that the number of dots on the first g R 3 R SR
dice exceeds 3 and that on the second i ; :
exceeds 4 is 53 x - T T qr 49 SR
| 2 2 |
M e u © - M g
3 i
@ ¢ = @ 2
. 1 1
@ 6 @ 3
_ 5 5 '
oW 6 - @ %
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MATHEMATICS (5) “
129. Suppose P(A)=0.4,P(B)=Pand ' 120. w5 P(A) = 0.4, P(B) = P 3
P(AUB)=0.7.1f A and B are P(A U B) =077 13K A 3R B Wi
independent events, then value of P is T, AP HAAE
1) 05 | g |
| 1 0.
@ 03
3) 055 @
@ 06 (3) 055
.4 06
130.

In a jar, there are cards bearing

§ 9 7209 '
numbers from 20 to 99. A card is T30, T PPN 2601 551 E vk

chosen at random. The probability ¥l i ¥ T FE aga e s
that the chosen card is bearing a T | T Wiy 6 5 Wi Wit
p@e number whose digits are also T SIS B T T ST YA o 3
PEHE, IS o e A ¥
1
1) 3 1
S 1 3
1
42y = 1
10 @ 55
1
B3) 35 \, 37 1
20 g3, 20 (Y 3 20
4 j 1%,
4 =5 ) 2 4
79 & @ 79
131. Three of the six vertices of a regular
131. % THYR . :
hexagon ABCDEF are chosen at = ? ABCDEF %: ¢ firgof
random. The probability that the : ﬁ##ﬁqﬁgmmﬁ?m
triangle with these vertices is & Tl @ frem T THAE
equilateral is ot R, = i ant
L ad g 1 ‘
M 7o 2w’ M T
| e ey
@ 19 , (| AT T
o , q
(3) 20 /) 3) 20
£, N ; 3
) 35 O
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Z1 , ®) MATHEMATICS
132. Which of the following will divide 132, Frafefa & & 111229 — 1 5t i
1112296 _ 1 9 fereifrer & 2
(1) 11and12 (1) 113R12
(2) 11and10 2 11310
4 .
4 only11 @ Fail
133. Ifx=¢, the value of(\/_-—i) 133 zzf?rx=—1-'§' a‘t(\/;——l—)'éﬁl"qﬁ
o 2+43 Vx . 2++3" Vx
1S : %.:
(0 +2 (2 6 1) =2 (2 +6
3 /6 @ =2 @) =6 @ =2
134. Value of 13'4 2 1 & 1 "
5 : : "J6+2 T A[T+\6 T \B+7
Jer2t eve  oavit 201 DT A E
2(1-4/2) is:
O 4 a (1 4 2 o
3 2 @ 2 @) 2 D 2
G P
A e U 1 1 1_.
135. If 2* = 3¥Y = 677 thcnx+"+"ls 135. aﬁ'21=3y=6‘z’?ﬁ—+—-+—a;[rn:|’
y  z > _ X'y z %
equal to P ¥, \&,>/ '
6 o] 2 LI
P o W * > 9 >M 1 o N \/ Y
@ 1 w g S s > 4
@2 1 \] o/
@ 3 (2 & 5
| Pz i - A3 .
) 22220 g 1» 5
)’ 52 g ' iy =L y
W < v 15 ) —3 s K\ \('7/
A : : 01/
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MATHEMATICS Z1
136. The value of (0.3)° - (05)° + (0.2)3 136, (0.3 - (0.5 + Q2P F A&
is
(1) 0.003
(1) 0.003 2 0.09
- ) 0.09
3 0.03 4) -0.09
3) 0.03
‘4) -0.09
137. In the matrix equation :
2 -1 137. 3NeE WHIEROT :
+ [3] % ] = [;0], the value of x
is : x[§]+y[11:|=[;0],ﬁx$rqﬁ%
M -5 @ 3 @ -5 @ 3
@ -4 @ 2 B, -4 @ 2
138. How many distinct factors of 1600 138. 1600 ¥ fafir= Trravel § @ feew ot
are perfect cubes ?
THE?
1) 6 2 4
1 6 2 4
Se—- 2>~ @3 3 @ 2
- Y 3 3 @ 2
s 2 8 8 26
B&ﬂw@mdk%{éLLj} 139. 3R [x] 1 9 HewH Il e &
where [x] is greatest integer function [%] + [—%] _[_%6—]-.*—[:“:{ ' 3
of x, is
) 2 @ 1 1 2 2 1
3
3) 3 @ 4 @y 3 @ 4
140. The integers 34041 and 32506 when 140. 9UIiss 34041 3 32506 =t o 3T
divided by a three digit integer N e YUt N & i 5 T¢ S
leave the same remainder. What can N
be the value of N ? | N A T &2
1) 319 2 317 1) 319 2 317
(3) 307 4) 289 3) 307 (4) 289
kY Y
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MATHEMATICS
| L +5x+b
141. If (x - 3) and (x l) are both factors 141. z:aﬁr(x—B)?fi“({t 3)35@3"2
: - 3) an —3 o
' & TUHETS €,
of polynomial ax? + 5x + b, then il 5
(1) a=5b 2 a=b ) .
(3) a=3,b=2 (4 a=tb @) a=3b=2 # a=d
i 3 s dfwarell R, = R, — 2Ry
142. Using elementary row transformatxor}s 142. Wb iR G?“ § R}; ;:Tz
'Rz-—->R2—2R1andR3—aR3—le 3 R, _; 4 . ‘ e
1 -1 = _
-1 =2 -
' ; 01 4 | you will 2 0 4 }maﬂ%ﬁaﬁ’"’
the matrix 5 -
' 1 2 5 4
obtain matrix : y < V. O }
1 -1 2 o 2 8
v ) |
¢)) {0 2 8 } () 0 7
0 -1 7 e .3
1 -1 2 @ 3 -1 2}
@ |3 -1 ZW o1 3
- 0o 1 3. -3 &
"3 1 6] 3) 2 -1 2
@ |2 -12 EO g 52
Lo -1 5. { ol
ri1 -1 -2 ) L3 _ 11 27
@ |3 1 2 6 o
Lo -1 =7
| i AZ=AT,
£ i h that 143. afx A TH T ST ©
. If A is a square matrix suc o ki
o A5=Amen(A—I)3+(A+I)3—7A A3+ A+ -TAFTT
is equal to ¢ o e 2 A
o Qe (@) I+A 4 3A
3) I+A @ 3A
' ; i 144, af% 3T A % fo |A| = 3 @ [sA] =
144. If for a square Matrix A of .or er e
: 2><2,|A|=3,‘thevalueof|5Alls | - Sra2xzh
a 135 (2):--15 ((1)" ' i g (:);lié 2
3 4 “ 75 G) 45 @ 75
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MATHEMATICS
4x — o =
145. HT3+5L3+1?__—3-=0, then
y z
»the value of;lc'+%+‘l'is
a1 o9 2 3
3) 4 4 6

146. If (3, -3) is solution of linear
equation 4x + ky = 6, then linear
equation parallel to this line is
(1) 4x+3y=9
2 x-2y=3
B 2x-y=4
@) 2x+y=7

147. If the sum and product of zeroes of
the polynomial ax? + bx + c are

equal, the value of b + ¢ is _
(1) 1 2) -1
3 a @ o0

148. When f(x) = 2x3 — x2 + 13x + 6 is
divided by g(x) = 2x + 1, then

remainder is
(1) 2 2 1
3) . A& @ 3

149. The polynomials ax3 + 3x2 — 3 and
2x3 — 5x + a when divided by x — 4
leave the same remainder in each
case. The value of a is
a 1 _ @ 1.5

M

2

3 2 @

.

®

145.

146.

147.

148.

149.

4x -3 4y-3

7'ﬁ\a-x-‘-)’-'-z=0

1.1 0 ;
a};-‘-;-{-zmm%-
a 9 @ 3

@ 4 @ 6

afx (3, -3), aw FHET 4x + ky = 6
& & &, o T gHieR aw |efteor
T

(1) 4x+3y=9

(2) x-2y=3

(3) 2x-y=4

@ 2x+y=7

wﬁagﬁzaﬁ+bx+c%vﬁiaﬁmﬁw
T 7O RER T & @ b + ¢ & 791
&

13 1 2 =1
3) a 4 o
Wf(x)=2x3§x2+ 13x + 6 =t

8(x) = 2x + 1 | e R st &, it
IFA T -

i 2 @ 1
3 -1 @ 3
TER ax® + 3x2 — 3T 223 — 5x + a Y
X~ 49 9 3 W F 9y vwgnm
T, aHAF §
el @ 15
3), 2 1
@, 5
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150. The sum of two numbers is 9 and
sum of their reciprocals is ‘2% Then
difference of numbers is
(H 1 (2 2
3 3 @ 7

151. Ifx2+ax+b=0and x2+bx+a=0

(a # b) have a common root, then
which of the following is true ?

(1) a=0

(2) a+b=1
3) a+1=0
4 a+b+1=0

152. If the graph of equations x +y =0
and 5y + 7x = 24 intersect at (m, n)

then the value of (m + n) is
(1) -t ), (I
3 2 @ 0

153. The area (in square units) bounded
by'linesx=0,y=0,x+y= 1,
2x+3y=6is

1
'(1) 22 2 2
1 1
@ 23 @ 2.
154. The number of co-prime factors of
' number N = 720 are
(1 67 () 65
(3 64 4) 63

(10)

150.

151.

152.

MATHEMATICS
27 et o AT 9 HX IAF HEHAT H
z:‘m-i%%lzqm' A & AT E

1 1
(3) 2

& 2
(4) 7

A2 +ax+b=03ARx2+bx+2a=0
(a % b) % TH T IFELTE &
ferfofiaa & & 9 91 T € ?

(1) a=0

(2) a+b=1

3
“4)

a+1=0
a+b+1=0

gfe @HERoT x + y = 0 A
5y + 7x = 24 % FA©@ &g (m, n) W

wfrdg S € Al (m +n) FAAE :
) -1 2) 1
3 2 @ O

153.

154.

Wt x =0,y =0, x+y=1
2x + 3y =6 TRT UfEE She (1 T
T

@ @ 2

@) @ 2

3 !.0.1)»- Nl\ﬁ—‘

& N = 720 % We-3Wd UFEUS
I we ¥ '
1 67
3) 64

65
63 .

@)
4
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MAT
HEMATICS (11) =
155. 1t . =
_ 2x + 3x = 9, the value of 155,'{Ii‘:21c+':‘i;=5?'}r6;;~2+20x+1a;T
Sx .
6x2 +20x + 11 i
A - 1
O S
: 1
® L @ &
i 5 3
® 1 3 3
1
@ = @ =
156. If -3 is a root of the quadratic 156. afs faema wHe<oT 262 + px — 3 = 0 =T

equation 2x2 + px — 3 = 0 and the

. -3 & 3R faam weisor p(x2 +
quadratic equation p(x2 + x) + k = 0 y : 7

hasequalroots,thenvalueofkis - +k=0F A TARE, AKkFI AT
4 4 s
M3 @ -3 M 3 @ -3
5 S 4
® 3 @ 2 @ 3 @ -3

157. 1If the roots of ax2 + bx + b = 0 be in 157. =% wieor ax2 +bx +b=0%7gw
the ratio of p : q then

pradaig[2eq [T, fB
'\/g+\/%+‘\/%equals x. q+ p+ aEITIER‘
(1)1 5. -1 '

; 1M 1 2y
3) 2 @05 €

3 2 @ o

158. If the roots of equation 158. aft g 3222 + 2h 0 % wi
* X +cCc=

3ax? + 2bx + ¢ = 0 are in the ratio of

2 : 3, then which one is correct ? :?m2:3%a’rﬁwﬁﬁ=rmw
(1) 8b2=25ac B e

(2) .8b%>=9ac

(3) 8ac=9b2 @ 8b2=9ac

(49 8ac=25b (3) 8ac=9p2

4 8ac=125p
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21 MATHEMATICS
12) &
19, ..., 215 1 TH T
159. The middle term of A.P. 5, 12, 19, 159. AP.5,12,
------ ,215 is 1 110 (2) 103
1) 110 2 103 3 135 @ 147
3) 135 4) 147
v T A ET
160. Which term of an A.P. 403, 397, 391, 160. A.P. : 403, 397, 391%‘3ﬁm‘7
...... is the first negative term ? T q??ﬂ T i}
(1 68" 2 69" (1) o68dt 2 69&;r
3y T @ 71* (3) 704at @ 71=1
. i I T e UR I T,
161. If fourth term of an A.P. is zero, then 161. afy forelt woiar 2k
t25 < . N aﬁ»
1., is, where t, denotes the n® term of at E ¥, STl t, |HIY St % o I
11
AP. T & A
1n 2 @ 3 WY2 @2 3
3) 4 @ 5 3) 4 4 5
et St &
162. Find the sum of all numbers divisible 162. 100 ¥ 400 T H WH FEAE
by 6 in between 100 to 400 6 FrTiea S & T AT I I |
(1) 12,550 (1) 12,550
(2) 12,450 (2) 12,450
(3) 11,450 (3) 11,450
’ @) 11,550
(4) 11,550
163. The first term of an A.P. is a and sum 163.

T AP. 1 T&el UF a ¥ 3R 9eet p W&l

of first p terms is zero, then sum of 1 AT I &, T T q T&T BT AT BT
next q terms is (o4 a1

_aq(p+q-1 (L) = Bt
@ p—1

y —ap(p+q)

@) _ap_l()lﬁgl ) |

_aq(p+q) _agp+q)
3) 5=T 3) p—1

(P+q-1)

@ -2 D1 @4 -2 ;_1-1
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MATHEMATICS

164.

165.

166.

167.

Ifx3+x2+x+1>0,thenall

solutions of this inequation are given
by

1)

x>0 2) x>-1-
3 x»>1 4) x>2
How many numbers in .-the set

{—4, -3, 0, 2} satisfy the conditions
ly-4|<6and|y+4|<52
1 3 2 2
3 4 @ 1

L.Q. of a person is given by the
formula

M.A.
L.Q. = C.A. X100,

where ML.A. is mental age and C.A. is
chronological age of 80 < 1.Q. < 140
for a group of children of age less
than 12 years. The range of their
mental age is

(1) 9.6<M.A.<16.8

2) 9.6<M.A.<16.8

3) M.A.296 ' .
4) M.A.<16.8

_x 1
Solve forx,2x+ 1234

¢))
2 xe (d,)

3 xe(%,‘”)u(;”’ 5

)=

x € (—o0,-1)

@) =xe (—-°°, 7

13)

z1

164. RO+ 2 +x+1>08 AT

STEHERTT F T T S
()
4)

x>0 x>-1

1)
3

x>1 x>2

165. = {- 4, -3, 0, 2} ® ¥ fweet
& widedr |y A 4| < 6 3R
Iy+4|<5#%¥i§€$lﬁ’r%?

(1 3 2) 2

3) 4 @ 1

166. W =t = 1.Q. = g R T
¥

1.Q.= __IE/I: % 100,

SERF M.A. WHEES A AR C.A.
FEATEED! A, 12 99 | FH g &
T=di & 80 < L.Q. < 140 & | !
T 3T T AN &

e8]
2
3
@

9.6<M.A.<16.8
9.6 <M.A.<16.8
M.A.29.6
M.A.<16.8

o e |
167. mZZﬁx%Wﬁaﬁﬁq s

¢Y)
2

T @)

X € (—oo,~1)

x € (1, )

el
e (=3B

@
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1

168.

169.

170.

171.

X sin~ly
# ————
_[, ,\1 — > dx is

-
6] x_*r__slm_ x: +x+C
(2) \/—% - x2 +sin"lx +C
3) —sin‘1 Af1-x2+x+C
(4) sin! '\/1-—x2+x+C

If C, denotes the binomial coefficient

¢ .S,
"C,, the value °f55+2C1+ ...... +
C, .
n is equal to
Cn—l q
‘ n(n+1)
m =
n—1)n
@ @i
2
n
@ 7
n + 12
@ (2

The two successive terms in the
expansion of (1 + x)** whose co-
efficients are in the ratio 1 : 4 are

(1) 3"and4™
(@) 5™and6™
3) 6™and 7"
4) 4% and 5"

The ratio of co-efficients of x® in the
expansions of (1 +x)2% and (1 + x)20 -1,

14)

168.

169.

170.

171.

MATHEMATICS

j.xm

x sin 1x+x+C

A1 -2

=i
2) \8/112_72 X2 +sinlx +C
3) -sinlx-\1-x2+x+C
@) sinx-Af1-x2+x+C
afs C,, sreitasTe i "C 1 ZYT &,
CI C2 n
—_— —= =l A

-a}co-}-zcl"' ...... +ncn—1
3

n(n+ 1)
€Y 2

n—1)n
2 2

n’
3 3

n+ 1)?
“@ 2

A + 0 & faer 7 < wo g5 s
o1 : 49 € &

(1) <R e e 9
(2) SdtTwr 6et U
(3) 637 dur 74t ux
(4) =hem e YreEt g

(1 + )22 e (1 + x)20 - 1 & g} F 10

is mwm%
€] 1f2 @ 1:3 () 142 2 1:3
(3)_» 3.} @ 2:1 3 3:1 @ 2:1
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MATHEMATICS
3n

x-3

value ofn is

@ 5

3) 6

172. If hm

2) 4
@ 2

173. A figure obtained by joining the mid
points of the adjacent sides of a

rectangle of sides 8 cm and 6 cm is
(D
2
3
“

a rectangle of area 24 cm?
a square of area 36 cm?

a rhombus of area 24 cm?
a trapezium of area 36 cm?
174. fy=ex+e*s "

dy .
then dx 18

1 4
m 5 @)
i-—
B @
sm X+ COS X
sm X —Cos x’

A 1
Wiy Q%

@ 0 @) 2

175. Ify dy

3e’+5e"" ;
dev—se= =

176. I
blog |4e*— 5| + C, then

eY)

= 108, n € N, then

hendxa_tx=0is

(1s)

172,

173.

174.

175.

176.

Z1
x__'i____?’,___ 08, e N dan
-qu-xllj)n3 X - . 5
EI"-’TFT%’: &) %
1 5
3) 6 @ 2
3 gt IEa R/
8 cmga’llTTG cm ga’r-[arg‘aﬁ'&'ﬁ' il
T SATHIT
(1) T ATTA %‘,‘ Tt RIS
24 cm?¥ |
2) @aﬁ%ﬁaﬂmsscmz%n
24 cm?% |
4 UH HATH t, R sEwa
36 cm2 ¥ |
x+c'" xd
qﬁ-y ex+e Fﬂ'—d%%
1
) —%‘Y ) T%}
.. 1%

@ 1oy @
_sinx+cosx dy
qﬁé‘sinx—cosx’a} =0 g, =

HAT:
1 1
1) -3 @ 3
(3) 0 4 -2
3e* + Se=*
q‘f\g“[4€x se_xdx=ax+

blog |4 - Se‘xl +C¥¢,
M a=-i,.2

gP°=3g
(2) a=%,b=%

(3) af—% =_.?8.
O d=gbn]
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177, In the given figure, O is centre of the
circle. If 0OQ = QR and £ZQRO = 15°
then the measure of ZQOP is

150°
105°

(1)
3)

120°
135°

@
Q)

178. Construction of AABC is not
possible, if BC = 6 cm, £B = 45° and
AB - AC (in cm) is
1 40

{(3) o

5.0
6.9

2
“4)
179. In the given figure, if AB = 13 cm,
BC = 7 cm, AD = 15 cm and
OQ =4 cm, then PC (in cm) is

1 2
@ 4

@ 5
4)-:3
'180. A straight line parallel to BC of
AABC intersects AB and AC at
points P and Q respectively. If AP =
QG
units, then the length of AP is
(1) 25 units

(2) 3 units

(3) 6 units

(4) 6.5units

PB = 4 units and AQ = 9'

(16)

, MATHEMATICS
& o, W W FR O X |

177.
. 0Q= QR LQRO = 15° @ ZQOP
o AUE &
)
o=
P Q
1) 120° ) 150°
3) 135° 4) 105°

178.AABc%rmﬁwaﬁ€’t%:‘qﬁ'
Bc=6cm,AB=45°ai‘\tAB—Ac%

(cm )
(1) 40
3) 5.2

5.0
6.9

2
4)

fe T fo #, AB = 13 cm, BC =7
cm,AD=15cm3ﬁ'(OQ=4cm%‘,ﬁT

PC (cm#) T : ‘

179.

A

0]

W
6 P D

2y 3
4 3

n 2
3 4

180. AABC # BC ¥ WK T 3@l AB 1
AC &t Rl P @ Q W el
¥ 13% AP = QC, PB = 4 T oW
AQ=9EE, MAPH v=r § ;

1) 257
@ 3w
@ 6w
@ 65w
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MATHEMATICS

181. Points A (10, 5), B (8, 4) and C (6, 6)
are vertices of a triangle, then length
of median from A is

(1) /5 units
(2)  21/2 units
(3) 4 units
(4) 3 units

182. In the given figure, AABC is
isosceles triangle with AB = AC and

ZABC = 50°, then £ZBEC is :

(n 70° 2y 50°
(3) 100° 4) 80°
183. In the adjoining figure PQ is

diameter of a circle with centre O. If
Z/PQR = 65° LRPS = 40° .and
ZPQM = 50°, then m(ZSPM) is

{1y - e ' @ 110°
(3) 90° 4 105°

184. If the points (k, 2k); (3k, 3k) and
(3, 1) are collinear, then the value of

kis

N 1
@ =5 @ -1
@ 35 @ -3

181.

182.

183.

184.

71

fig A (10,5), B (8,4 R C (6, 6),3
ﬁ"ﬁﬂ??ﬂﬂ‘f%a’mﬁ T
(1) 5T
@) 2N2TE
3) 4 TS
4) 3 5
ﬁﬂéaﬂ?ﬁﬁMBcwmﬁgﬁ
%ﬁ'ﬂﬁAB=AC?I’ZITAABC=5()°’;ﬁ
ABECEHMH%;

: ) 50°
€Y) 70° Q@ :
(3) 100° @) 80

¥ | af ZPQR = 65°, LRPS = 40° 3R
/PQM = 50° &, d@ m(£SPM) T

(1) 115° (2) 110°
(3) 90° 4) 105°
o R/ (k, 2K); 3k, 3k) @ (3, 1)
e df kA

2 1
M) =Fa 5@y

4 e
[OF: @ -3
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18s.

If ‘A’ denotes the volume of a right
circular cylinder of same height as its
diameter and ‘B’ is volume of sphere
of the same radius as that of cylinder,

then%is
3 4
» 3 @ 3
2
® 3 @ 3

186. If the vertices of a triangle are (1, —3),

187.

188.

4, -3) and (-9, k) and its area is
15 sq. units, then value of k is

1 3 @ 4

» 7 @ 5

The coordinates of A and B are (1, 2)
and (2, 3) respectively. If P lies on

PB 3 .
AB such that AB=7 the coordinates

A triangular cardboard piece has
sides of 51 cm, 37 cm and 20 cm. It

(18)

185.

186.

187.

188.

MATHEMATICS

q&@ﬁagﬁqw,ﬁﬂa%ﬁﬁaﬂ%
e 3 A ¥, & e A foran
mm‘B',@tﬁémﬁﬁwéﬂ?ﬁ

ﬁm%wtmmﬁ,a’r—g—mm
3

1) @

WIN W
MW WA

3) (C)

e T BrgeT & ¥ (1, -3), (4, 3) 3T
(-9, k) ¥ T TR HAFA 15 ot T

AKHAAE

o 3
3 7

4
5

(2)
4)

A @ar B ¥ FREis (1, 2) T (2, 3)
Faw: & | 9% P {@rEve AB T ¥ WS

gw{%%-a}paeﬁasﬁav%
o B9
o (3

Wﬁgmmaﬂéahé‘%gaﬁga%ﬁﬁﬁ
51 cm, 37 cm 320 cm & | g E=s

Web: www.adhyayanmantra.com

000E© O

is painted with white paint to write a_ = 977 ey ¥ T T o%E U1 9 U
slogan on water conservation. If cost :
gt £ frm T 1 @ 1 cm? e WY H @
of painting 1 cm? is ¥ 2.50, then total ) )
(1) 765 2 1§12 (1) 765 () 612
(3) 918 @ 715 (3 918 4 715
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MATHEMATICS a9) a1
189. ./l\ZBCD is a rectangle of dimension 188. 12 cm X 5 cm syt arer T A b
cm X 5 cm. A circle is ) e ¥
circumscribed about the rectangle. Foraga € | ot &
The area of shaded region is ‘
A/ B
5cm
A % 12 cm b
Scm D / C
D 12 cm - ’
1) 75cm? () 72.8cm?
(1) 75cm? (2 728cm? "
& 3 2 29.5 cm
(3) 60 cm? @) 9295 cm? (3) €0cm =
190. Bucket of 7 cm height has upper and 190. 7 cm S AR & I W
lower c'liameters of 24 cm and 12 Cfn ; . cm 3T 12 cm ¥ T
respectively. Volume of bucket in 33
cm? is AT Qe T €
(1) 1892 (2) 1848 (1) 1892 (2) 1848
191. Water is flowing at the rate of 5 km/h 191. 14 cm = T ST ﬁ? km/h = =T
through a pipe of diameter 14 cm ﬁqﬁr@mﬁﬁ wWEE st e
imo i nzcﬁgmar.:iankl,:hifih . ;?{;2 50 m T SR 44 m HET ¥ | 3 H A
ong an m wide. The time . .
(in hours) for the rise in the level of 1 FR 3.5 om I Sar % fore W (R
water in the tank to be 3.5 cm is : ) T
1
(=i ()2 @ 1 @ 13
3 1 3 1
@), 1y .. 12 @ 15 @ 1
192. The radius of a circular iron rod is 192. W@%‘ﬁ TR B H BT B TS
decreased to one fourth of its actual R TR | AR S o B aREe |
radius. If its volume remains . o
constant, then the length will become T T HHW%‘EI%%
(1) 2 times of original length 1 g
(2) 12 times of original length (2 127
(3) 8 times of Ol‘iginal length - (3) 8 "I'-'“ :
; riginal len
(4) 16 times of original le gth @ 167
Portal: live.adhyayanmantra.com Connecting Platforms [19]
Web: www.adhyayanmantra.com 9 o o @o 0


http://live.adhyayanmantra.com
http://www.adhyayanmantra.com
http://www.adhyayanmantra.com
https://t.me/AdhyayanMantra
https://www.instagram.com/adhyayanmantra/
https://www.facebook.com/adhyayanmantra
https://www.youtube.com/@adhyayanmantraconnected

by
ﬁﬂ% o .
& R Available on :.:}Ti{ﬂ-_:.-_ ¥ | Join Now a )
e iH o
»Google g3 ConnectedApp
AITHA — Portal: live.adhyayanmantra.com

1

193. 174 + B = 90°, then the value of
—/—.—
\/ta“ A tanB+tan A cotB_sin°B

sin A sec B cos?A
is
(1) secA (2) tanA
(3) cotA 4) secB

194, If tan 76 - tan 206 = 1, then the value
of tan 30 is
a1
2 =3
3) 3
@ 3

195. A cylinder circumscribes a sphere.
The ratio of the volume of cylinder to

that of sphere is
a1 2:1

@ 3:2

U3 4 3

“4) 6:5
Ifsin(A+B)=1andcos(A-B)=1,
where 0 < A + B <£90°, then 2A — B
is equal to
(a o°
3) 60°

196.

2 30°

4

If 3 sin © -5 cos 8 = 3, then the
'valueof5sin9+3coseis_

(1) +8

2y %5

“(3) +3

@ *2

197.

(20$)

193.

194.

195.

196.

197.

MATHEMATICS

afr A + B =90°dt

tan A - tan B +tan A cot B _ sin’B
' sin A sec B coszA

WHFI%:
(1) secA (2) tanA
(3) cotA (4) secB
i tan 70 --tan29=1%‘,Fﬁtan39$r
e
1
@ -3
(3) 3
1
@ ;‘/—5

TF a0 TH 7ot & uRga € | 9o &
S AT A o STF T ST &

1y 2:z1
2) 3:2
3) 4:3
4 6:5

I sin(A+B)=13Rcos(A-B)=1
§ SafF0<A+B<90°% @ 2A —B
W E:
1 o°
3) 60°

I3 sin@ -5 cos =38 ar
5sin@+3cos OF AR :

30°
45°

)
C))

(1) %8
2 +5
3) *3
4 +£2
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MATHEMATICS

198. The distance between two pillars of
length 16 metres and 9 metres is
x metres. If the two angles of
elevation of their respective tops
from the bottom of the other are

.chimney in a horizontal line through
its base observes that its angle of
elevation changes from 30° to 45°.

(21)

198.

Z1
16:ﬂz'rai?ﬂ9‘ﬂ'°'fa°—€”§mﬁaﬁaﬂiﬁr
o x e ¥ mﬁsﬁﬁ*"ﬁéﬁ@*
e T T I 0T A e B A x

w1 e (e ) ¥
complementary to each other then :
value of x(in metre) is 1 15
a 1s 2 12
2) 12 3) 16
3 16
4) 9
CON “
199. A person walking 20 m towards a 199, U TSI SMER ¥ &t @ 7 famet @t

2 20 Tex ST T T ¥ 76 feme 6 i
N I=EE PO 30° ¥ 45° @ S

The height of the chimney is ¥t e S
! (1) 203+ 1)m (1) 20@[3+ D
2 1003+ Dm @ 10@[3+ D
(3) 10@/3-1)m (3) 10 @[3 - 1)
@ 2013-1)m

200. The value of cos 20° cos 40° cos 80°

4) 203 -1

| 200. cos 20° cos 40° cos 80° FHF & :
is )
3 1
3 i < 2
) |
; 1
@ § e
g i
® 2 18
1 @ =
— @ 33 =
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Frafataa fEw ama e : READ C%gngULLY THE FOLLOWING
3 e INSTRUCTIONS:
1. fmumr afﬁ:;:r rait mmﬁvw@?m?ﬁq\ T The msnnerin wiiih heiiteret dusstious e 1o
e e & fay &, R 9 AR AT SR | be answered has been explained in the Test Booklet
A ARG T | which you should read carefully before actually
- ol Forert 5 R WY 3R 8 e answering the questions. 8
2 e % o frg e A ‘| 2 Out of the four alternatives for each question, only

OMR 397 97 % J=-2 W Facl TF g =l Rtiics one circle for the correct answer is to be darkened
FE/A T gz 07 | 91 | UF 91 S Sl o completgli}ll:{wnh Black/Blue Ball Point Pen on Side-2
5 o * o ¥ pf the O Answer Sheet. The answer once marked

% AT I FxON T2l S FHA S . is not liable to be changed.
3. uirdl gifrad i fE TR ST UA HIAGTTIU UG 39 | 3. - The candidates should ensure that the Answer Sheet
T HE 7 HIE A MG | LI ST G o f: not foé%ed. II))O not make any stray marks onhthe
T4 > x Answer Sheet. Do not write your Roll No. anywhere
Loiadiodel Fretifeer 72 % sHfafcrr o7 7 ford | else except in the specified space in the Answei Sheet.

AT g T& IT T Wm ®{, FifH | 4. Handle the Test Booklet and Answer Sheet with care,
faedt it wfifeafa & (Saer 9teT giesr T 39 9T & as under no circumstances (except for discrepancy
wHa g7 e ° fogar & fefa =t gﬁga,-{) -{gﬁ qdeT in Test Booklet Code or Number and Answer Sheet
fieerenT STeT T wr S | - Code or Number), another set will be provided.

5. gdten gfeesr / 39 99 | &y we dter gt @a g | 5. The candidates will write the correct Test Booklet

AT F adeTd TE ad | wed- o Code and ‘Number as given in the Test Booklet ./
- e  wiferdt-or 7 | Answer Sheet in the Attendance Sheet.

6. OMR IW W # ST AH Hl TH T 97t 1| 6. Amachine will read the coded information in the OMR

T % 1 GO S A 1 AR qE vAn ur g A Answer Sheet. Hence, no information should be left

AT | gt =7t e e | i A incomplete and it should not be different from the
reft - e 3 ;1’ - y information given in the Admit Card.

7 = RIE NS ESAE i Wq}‘z 7. Candidates are not allowed.to carry any textual

7, 1D Y% % faand 6t wer @t wreg s, i ar material, printed, or written, ‘bits of papers, pager,

4.

gEAfeAfiad, FTTe t rea, Yo, HETee T, g’(‘-}agiﬁq; mobile phone, electronic device or any other material
FYFAT 7 P 3T W ) T Y o ST A S except the Admit Card, Black/Blue Ball Point Pen and
e By e ID Proof inside the examination hall/room. '3
F 3“1’“% '3 I . . 4 8. Mobile phones. wireless communication devices
8. AT %, AR FAR gferrdt (e S srawar ¥ o (even in switched off mode) and the other banned
T 3= vhetug Eﬂ?ﬁ T BT/ T e erE ARt items s}}:oq:d not be brought in the examination halls/
: 8 . rooms. Fatling to comply with this instruction, itwill
a"%q, | % AT =7 91 TR R ﬁ,a'i‘a“ be considered as using unfair means in the
ATt ST R I favg HaTEl S inati ion wi i
: =T UATT /AT S cxamination and action will be taken against them
AT, Wwaﬂ:}m I including cancellation of examination.
9. U W W vdw e, e ® s waenaw | Eacg can}clildlatc_m;xs( show on demand his / her Admit
R | " Card to the Invigilator. h
§ - . 10.  No candidate, without special permission of the Centre|
10. a’? 31%1'}&:{3; ar ﬁﬁa;%_a? ferdtr FAfe & o Supen'ntcndcmorInvigilagﬁr. should leave his / her seat.
i z 11.  The candidates should not leave the Exarnination Hall/
1. &mav mﬁﬁ;ﬁmﬁr 7 R famr b m::; Room without handing over their Answer Sheet to the
Y FEAR ERTETT QPRI Ot ETeT/ae Invigilator on duty and sign the Attendance Sheet
orET | fy ferat wdtemrel 3 TRt SR B1f-u9 o ERm twice. Cases where a candidate has not signed the
6} for, &t de amT ST fob 399 39T O T@ e ¥ a\ttengancc!cdShcet [shc:cond time will be deemed not to
e S ) ave handed oyer the Answer Sheet and dealt with as
uzrq 3 3Ia”35' : E'—’Tm” AT HEAT ST | wgam‘i an upfaxr means case. The candidates are also
= T & IS H Frvm wiedoae F R required to put their left hand THUMB impression in
T [T 9T HAYT A | the space provided in the Attendance Sheet.

12 W/mmwﬁwwmaﬁa%n 12. Use of Electronic / Manual Calculator is prohibited.
13. WRIe-ER/HR F STERoT & fo qlemdt qiieror weer @t | 13, The candidates are governed by all Rules and

Forareit i Faferrmit T Rrafira | Wmvmmv tI}l]e:gula\ticc:i)ns pft;heEI’i(xamining %(;(lngwilh regard to
g s % s % e1r conduct in the Examination oom. All cases} -
e eor e S P et & srgE g | of unfair means will be dealt with as per Rules and]|
14, fwé}»mﬂmqfww 3 I T T FIE W o Regulations of the Examining Body. i
Tu¥ | 14.  No part of the Test Booklet and Answer Sheet shalll

® ik A T be detached under any circumstances. .
15. mmﬂ:mw::l g erm LI m U}!:ﬁ'é Té 15. On completion of the test, the candidate must hand|
- m I T aTedt over the Answer Sheet to the Invigilator in the| -

ot \re 39 s YT &t & ar wwa F | Hall / Room. The candidates are allowed to take]

away this Test Booklet with them,
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